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5. Implement the python code to

compute the population proportions for
the gi broblem
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Implement the python code to compute
the population proportions for the given problem

FIT IS

¥ [64] import matplotlib.pyplot as plt
from collections import Counter

# Sample dataset: people’s favorite frult choices
survey data = [“Apple”, "Banana”, "Apple”, "Orange”, "Banana”, "Apple”,
“Grapes”, "Banana”, "Apple”, "Orange”, "Grapes”, "Banana” ]

E’: [66] # Count occurrences of each fruit
truit counts = Counter(survey data)
frult counts

=+ Counter({'Apple': 4, 'Banana': 4, 'Orange': 2, 'Grapes': 2})
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Implement the python code to compute the population proportions for the given problem
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[67] # Total number of survey responses

total responses = len(survey data)
total responses
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[76] # Compute population proportions

population proportions = {fruit: count / total responses ftor fruit, count in fruit counts.items()}
population proportions

Sv {'Apple’': ©.3333333333333333,
‘Banana’: ©.3333333333333333,
‘Orange’: ©.16666666666666666,
‘Grapes': ©.16666666666666666)



Implement the python code to compute the population proportions for the given problem

FIT IS

[76] # Extract keys and values for visualization
labels = list({population proportions.keys())
proportions = list({population proportions.values())

# Create a bar chart
plt.figure(tigsize=(12, 5))

# Bar Chart

pnlt.bar(labels, proportions, color=['red’, 'yellow’, "orange’, "purple’])
nlt.xlabel("Frult Type")

nlt.ylabel("Proportion”™)

plt.title("Population Proportions - Bar Chart™)




Implement the python code to compute the population proportions for the given problem

L oE;

Population Proportions - Bar Chart
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Implement the python code to compute the population proportions for the given problem

L oE;
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@ # pie Chart
plt.pie{proportions, labels=labels, autopct="%.1f%%", colors=["'red’, 'vellow', ‘orange’, ‘purple’])
plt.title("Population Proportions - Pie Chart™)

Population Proportions - Pie Chart
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